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QUESTION 1

Which three statements are true about alerters? There are 3 correct answers to this question. Response:
A. You can apply alerters to charts.

B. You can apply multiple alerters to one block.

C. You can apply the same alerter to multiple blocks.

D. You can control the order in which alerters are applied.

Correct Answer: BCD

QUESTION 2
You are reviewing a report with the following statement in a variable:

=If([Sales revenue] > 750000) Then "Top Performer" Else If([Sales revenue] Between (200000;650000)) Then "Average
Performer" Else If ([Sales revenue]

Which statement is true of the results produced by the statement for sales representatives with sales between 650,000
and 750,0007?

Please choose the correct answer.

Response:

A. They will be Top Performers.

B. They will be Average Performers.

C. They will not be included in the report.

D. They will not have a performance value assigned.

Correct Answer: D

QUESTION 3

Which statement is true of the Where operator when used within a variable?

Please choose the correct answer.

Response:

A. It instructs the variable to calculate only where certain values are true.

B. It modifies the HAVING clause of the SQL generated to calculate the measure expression.

C. It modifies the WHERE clause of the SQL generated to calculate the measure expression.

Latest C_ BOWI_42 Dumps | C_BOWI_42 PDF Dumps | C_BOWI_42 Exam Questions 213


https://www.pass4itsure.com/c_bowi_42.html
https://www.pass4itsure.com/c_bowi_42.html
https://www.pass4itsure.com/c_bowi_42.html

. VCE & PDF https://www.pass4itsure.com/c_bowi_42.htm|
g 2024 Latest passditsure C_BOWI_42 PDF and VCE dumps Download

— PassditSure.com

D. It is not necessary to place parentheses around the values listed after the Where operator.

Correct Answer: A

QUESTION 4

Which option can you use to convert a table block into a chart in Web Intelligence Rich Client?
A. Click Format > Charts and select "Convert to Chart"

B. Click Tools > Charts and select "Change Table to Chart"

C. Right-click the table block and select "Turn To"

D. Right-click the table block and select "Convert to Chart"

Correct Answer: C

QUESTION 5

You add a new object to a query and run the query. How do you display the new object in the document?
A. Select "Insert a table in the current report" option.

B. Choose "Refresh All" in the report

C. Select "Insert a table in a new report" option.

D. Drag the new object from the Available Objects pane onto the report.

Correct Answer: D
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